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Topic: Mathematics-Section A

Iltem No: 1

Question

D: 100101

Question

Type: MCQ

question: | B f:R— R« G ATE SCAT @ f (Bx)—f (x)=x | AM f(8) =7 T, ©I2F f(14) G2 T
TG

A: 4

B: 10

c: 14

D: 16

Topic: Mathematics-Section A

Item No: 2

Question

D: 100102

Question

Type: MCQ

Question: 49 O 2 Jol G38 A % 2, =1+2i | AW B 4T &3 7 z,, Re(z,) < 0, T TS I OAB 6

| T TR e 2 AER Sewe 26 OB, SIEE A1E (P [ AT OUp ?
A; arg z,=w—tan"!3
B: -1 4
- arg (zy —2z,)= —tan 3
C: |22| = /10
D: |22."1 - Zzl =5
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Iltem No: 3

Question 100103

ID:
Question
Type: MCQ
T Wha T _Ran e
8x+y+dz=-2
, x+y+z=0
Question:
AX—3y=p

1 o
SRR HAKI TP, O [?\, 1 —EJ%{%?I 8x+y+4z+2=0 T 2Z(C 7Y X

B 4
C: 2_6h
9
D: EJ_
3
Topic: Mathematics-Section A
Item No: 4
Question
D: 100104
Question
Type: MCQ
Question: 49 A 9T 96 2% 2 Yﬁﬁiﬁ[ TS (T det (A)=—1 943X det (A+]I) (Adj (A)+D))=4 |
| oA A @ MR @ 73 e
A: -1
B: 2
C 1
D: _\/E
Topic: Mathematics-Section A
Item No: 5




Question

D- 100105
Question
Type: MCQ
a «FR7l G0 SR FIeIRE WA A & y=1,y=3, x=0'¢ x=12 &l7l “caFe (t@q (g
Question: 364
= | Q a 7 T ZF ¢
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D- 100106
Question
Type: MCQ
60T € NI 2R b wreies e gt Kol 54 ¢
2, 22, 23, .. €32 4,42 43, .|
- 5
Question: | g Goitar GG 60 + n AT 7T a0 Enifsfos ¢ (Geometric mean) (2) 8 <& OIRC
n
Y k(n — k) 7 2
k=1
A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Item No: 7
Question ID: 100107

Question Type: | MCQ




W x =0 e Wea S 3o A% =@

log. (1 — x + xz) + log.(1 +x + xz)

Question: )= SecY — Cosx s
k , X

O2re k <9 Wi 279 8
A: 1
B: -1
C: e
D: 0
Topic: Mathematics-Section A
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Question ID: 100108
Question Type: | MCQ

I R €3 739 M5 =2 qio

Y . e
x) =

fx) {lx—-&l , x>0

Question: gL
x+1 ., x <l
x —

8() (x—4)2 +b , x=0

ATS R, SR (g0f) (2) + (fog) (—2) FH ¢
A: - 10
B: 10
C: 8
D: -8
Topic: Mathematics-Section A

Iltem No:
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Question ID: 100109
Questi
T;pees: ion MCQ
3 2
x" —=x“+10x-7, x<1
@ () = 2
Question: —2x + 10g2 (b™ — 4y, x>1
b ~49 (T T T f{x) G x =1 [0S b AT S (1616 27 8
A (-6, —2)
B: 2, 6)
C: [=6: =2} (2,6]
D: [—JE, —2) U (2; \/ﬂ
Topic: Mathematics-Section A
Item No: 10
Question 400110
Questi
T;pe; ion | \ica
_ o % 2n . _ [1—cosx e oo
Question: A A= ilff}o k§1m R 1+cosx "¢ (s 1) R P P ISl
Ao 2
f 2 f 2
d a
B: — fl — |= .\/E
r(3)(3)
- oo
f 2 f 2
D:

/() -6
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Question ID: | 100111
Question
Type: MCQ
. dy ; T T
Question: | zfr e T2y =sing, 0<% o R LS ) = 0 =3, S0 y(x) < BT 24T
A: l
8
B: E
4
C: l
4
D: g
8
Topic: Mathematics-Section A
Item No: 12
Question
D: 100112
Question
Type: MCQ
€3 P« 30 ST 7 (AT (1, 2) @ (-2, 1) 7 2300 F@rea a0l (@ieire 2= 14 | 49 P«
Question: | FL AL T f (x, y) =0 Y x 1T A, B TS @R y= 1 C, D e = o | orga
ACBD bQ$ TS (qF 25 ¢
A: 2
2
5. 317
2
c. 317
4
D: g




Topic: Mathematics-Section A
Item No: 13
Question
D- 100113
Question
Type: MCQ
43 (o, B) RHCT 12 =24 TR T2 WfE® RFH 20+ 2y =5 @UF AN 79| OA
Question: 12 yz
F =1 7}IJCST THT (o +4, B +4) YL SfE© Sfeerals T3 (@ o 77 2
o
A (25, 10)
B: (2[], 12)
c: (30, 8)
D: (15, 13)
Topic: Mathematics-Section A
Item No: 14
Question
D- 100114
Question
Type: MCQ
question: | 29 TR s 5 G0 FREE N L om0 A0 x+y — z =0 =x — 2y + 3z — 5 (I AT |
(1, -2, 5) A 2300 @ AR L @ TR SR S 0T 0 I ¢
A E
2
B: 2
2
C: E
2
D: 1
Topic: Mathematics-Section A
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Question

D- 100115
Question
Type: MCQ
— A M M

VAT a=ai+j-kGRp =27+ ] —ak-a>00 I _7 4 25 _2f @T
Question:

— —

a X b 99 et 9 30 T, ©IEE o« &b TF 23 ¢
A: E

2

B: &
C: E

2
D: 7
Topic: Mathematics-Section A
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Question
D- 100116
Question
Type: MCQ

o 4

Question: =5 ot TS oIg @ Ter 2 IUAC o K 3 | T P(X =1) = 243 2, O P(X= 4

TSI 5) @ A 3
A: E

9
B: 24_

81
C: E

27
D: 145

243
Topic: Mathematics-Section A
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Question

D- 100117
Question
Type: MCQ
49 E, E, ¢ E; 2 49 foaft sg™~i7 fafoem (mutually exclusive) qo+ (F
. 2+3 2 - - y
Question: | P(E,) = P pE,) = Tp Ga8 P(Ey) = 1Tp | py € p, T p &9 TAGH A @
ST AW | S (py + p,) G T 2 ¢
A: g
3
B: E
3
C: E
4
D: 1
Topic: Mathematics-Section A
Item No: 18
Question
D 100118
Question
Type: MCQ
418 S=1{0e [0, 2] : 82in% 4 g2c0s% = 16} | WA n(S) + Z[sec [E : 29) cosec [E % 29)}
Question: bes 4 4
G W 209 ¢
A: 0
B: -2
C: —4
D: 12
Topic: Mathematics-Section A
Item No: 19
Question ID: 100119

Question Type: | MCQ




. a1 1 /D 1 1
Question: tan [2tan1—+sec1—+2tan1—} &g I 2
5 2 8

A:
B: 2
C: l

4
D: E

4
Topic: Mathematics-Section A
Item No: 20
Question ID: 100120
Question Type: | MCQ
Question: (""(P = ~q)) A q Hﬂﬁiﬁ 25 uﬂ<r=|ﬁ3
A Bive
B: [EESISPGRACIES
C: (p = q A q 997N
D: (p = q) A p 997
Topic: Mathematics-Section B
Item No: 21
Question
D- 100121
_?;pees:tion Numeric Answer

44 p, q r € R 25 7ibege 73 3« foqis 1247 (@
Quest (p2+ 22 —2q(p +1)x + @ +12=0 &7 G0 1 12 + 2 —8 = 0 T AVLAE G0 1&7 | SI2F
uestion:

2 42
P—zuﬂﬁiﬁ?{iﬁ'
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Ql{estion 100122

ID:

Ques.tion Numeric Answer

Type:

Question: | F-CFT ORI k1t el 39 A0 FRANGF @zt 2 36 | & ¥ A G
HATT 267 |

Topic: Mathematics-Section B

Iltem No: 23

Question ID: 100123

Question Type: | Numeric Answer

3 @1 G sffeaefes MRmer (@9ire [ge 341 2= 2

Question: {3}, 16, 9, 12}, {15, 18, 21, 24, 27},. . .|
& (¥TE 11 O (o7 “mefed caisee =@
Topic: Mathematics-Section B
Iltem No: 24
Question ID: 100124

Question Type: | Numeric Answer

O3 —x2—x+1)+x Bx3—4x2—2x+4)—-1=0

Question:
A E<el0d o x-fon A1 sia=in siem Toafem 7l ==
Topic: Mathematics-Section B
Item No: 25
Qlfestion 100125
ID:
Ques.tion Numeric Answer
Type:
Question: | & A+XP (1-2)9, p, g = 15, 41 TEfere x R 12 @7 AR 2 Y@ —3 @R —5 |
| o @ Rgfere 13 @7 Tl 7@ |
Topic: Mathematics-Section B
Item No: 26
Question 100126

ID:




Question

Numeric Answer

Type:
1 __ .Dy2n _ 1 _ Dy 2n+1 —

o
Topic: Mathematics-Section B
Item No: 27
Question
D- 100127
Question .
Type: Numeric Answer

&1y =y(x) 21 (3, 3) Kol @60 qaraall | x-S0 7 SR Wi €38 3 '8 x(>3) TOed T4 SR[Ee

3
Question: | & g AT W (T (FFE (EJ | I & F@H 22 S (o, 6410) T e =,
X

OIS o G99 W 29 |
Topic: Mathematics-Section B
Item No: 28
Question
D- 100128
_Crlues.tion Numeric Answer

ype:

49 ABC f@gr&a AB, BC 8 CA TR F[a¢ 2o I 2x +y=0, x + py =152 49k x —y=3 |

Question: 1
o~ P

T @ fqgred 91" (2, a), —5 <a<2 WA p F A TJ |
Topic: Mathematics-Section B
Iltem No: 29
Question
D- 100129
_?;pees:tion Numeric Answer

49 flx)=2x2-log,x, x > 0, WA 6 (0, a) WFACE Y 93K (a, 4) TSN (G |

1

Question: | V> ="4ax TRRTET €*R P IS TfET =T (8a, 8a—1) RsIT Fe (— — OJ aisT =2 |

~ ~ X
P (e @ SIfiqred o[ oI © SIfearea 713 1<6ae] <7 % =150 a+B9INTZA




Topic:

Mathematics-Section B

Item No: 30
Question
D: 100130
1Q_ue§tion Numeric Answer
ype:
@QEe R r+l_y+2_z-1 @I @i SRAge @5 velb 7 AEl P4, 2, 7) 7 20
Question: 10 2 3 2z ' TP, 2,7)
J26 WY SAFS | O=# PQR [@9ed (qFe T4
Topic: Physics-Section A
Item No: 31
Question
D: 100131
Question
Type: MCQ
ol 9%, B9 T M =100 kg, m, =10 kg R m, =20 kg, F=IES I980e 3% | 2foh ©=
T KR AL g WAL € T | IIFS FIAFEADS T '€ TR | 2 IRZITE GG 7o F
ST =1, m, SR IB6 CATR TP 2 ms —2 e ofold 20l | 951 F @7 S
(g=10 ms~2 &)
Question: my=10kg
F
— > M=100kg | | my=20kg
A: 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question
D 100132
Question MCQ

Type:




G @Ge, 6 MHz (A& 10 MHz 23S 7e (0 ©95% TS 2420 08 7 | A6 94 (@

Question: ) P
(e SIHACNT T))
A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Item No: 33
Question
D 100133
Question
Type: MCQ
ITT! = 77, @36 Rre (o3 AAvitefa i e stiat S fifees 4250 17t 356 iz, b=
Question: | W&l & ST 2250 T(F (51+1 | O3 Eba 40 T TE@—
(log,,1.88=0.274 = 4&y)
A: 0.02 min !
B: 2.7 min—!
C: 0.063 min ~!
D: 6.3 min !
Topic: Physics-Section A
Item No: 34
Question
S 100134
Question
Type: MCQ
Question: | T ST Ffa0e5g, 900 nm €32 TTHCE 100 Wm —2 Sl 7z, Torg ot <= ib wier T
e Tl O3 2 ETRrs, 2 @ cm? CFE, TEESIE 23RS @ 5Ed (SE F6) A—
A: 3x 1016
B: 45x101%e
C: 4.5x% 107




D: 4.5% 1020
Topic: Physics-Section A
Item No: 35
Question
D- 100135
Question
Type: MCQ
6 2397 Fa-aifew ST, A ArEd TN 12 mm | 37 2=t 39210 S Wi (St Aferaiss
Question: 4 e
5) (TR 27, O3 [Nt @ +iffafee Aied arzd S =@ ¢
A: 16
B: 0
C: 48
D: 1.2
Topic: Physics-Section A
Iltem No: 36
Question ID: | 100136
Question
Type: MCQ
GG HTGA T ST FHF ¥ A0, (GIFF 1 (F0ad AN
Question:
—r Fay
B =2x 10" 8 sin(05x 10°x +1.5 x 10't) j T 9, Oe<rwmaa [A@ias i 2ea—
A: 6 Vm 1, x-S 99199
B: 3Vm—1, z-9FF 939
C: 6 Vm 1, z-97F ITR_T
D: 2x 108 Vm 1, z-9[% Iq4
Topic: Physics-Section A
Item No: 37
Question
D: 100137
Question
Type: MCQ




¢ LR (¥ TR TG 932 X =R | SR ISR IS Fo0] el P, | 46 47 C, (el 71l &

Question: P
1
0, TS 14 A TS| eI N Py, X =X & &0 | O7F p, A TA—
A: l
2
1
B: —_—
J2
C: ﬁ
J2
D: 2571
Topic: Physics-Section A
Item No: 38
Question
D: 100138
Question
Type: MCQ
P M
G5 ST Fll SIS Z0A, G0 I (GTF (G (2:‘ + 3}') T 5if¥ e =71 | o ofte F41F 539
Question:
fx &
(m — 4}) ms ™2 T, O(F o G T TE—
A: 3
B: 6
C: 12
D: £
Topic: Physics-Section A
Item No: 39
Question
D: 100139
Question
Type: MCQ
13, 16 S T X IR Y G2 T e 2RIRS 0% IR 07 (50 (55 CFFGad T TGN
Question: | By @3 By | M X PR ARALA 200 @2 WAL 20 cm G Y FEETR AIB AL 400 38 FjiAig

20 cm T, O By 3% By, G SRS ¢




A: 1 #1
B: 1 52
C 251
D: 4:1
Topic: Physics-Section A
Item No: 40
Question ID: 100140
Question Type: | MCQ
FifEe 919 2aifze sfee I ¢
4 Q)
VWV
24} 40
Question: AM*—WW—ANW
4 () 4 ()
MWW
o
40V
A: 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A

Item No: 41

Question
D- 100141

Question
Type: MCQ

G &@; C, =1 uF, C,=2 pF, C;=4 pF @& C, =3 wF, G WA 20 V G0 (HIC AL
I@ | G2 AR AWEF T 2@

Question:

A 200 pC

B: 200 C




C: 10 w:

D: T €

Topic: Physics-Section A
Iltem No: 42

Question ID: 100142

Question

Type: MCQ

Question: e (ieraite 8 @t e, R 7 siferaead (=1<ifbrag @i 2Ea—

A: W

B: TSR

C: LT @GR

D: e (AR
Topic: Physics-Section A
Item No: 43

Question
D: 100143

Question
Type: MCQ

7 mol &6 G-I ST ST SleRal 22 51t 40K 3 w21 20a1l | 9% S s e
Question: | (5 SrefE ¢ =& Jfem 7 2a—

(8 R=8.3 JK~ 1 mol—1)

A 5810 ]

B: 3486 |

c: 11620 J

D: 6972 ]

Topic: Physics-Section A
Iltem No: 44

%fes“on 100144




Question

Type: MCQ
Question: G5 GF-2RNE 571, BIA P R SRS V (203 221 Wb SR IF ©iel et Ao 41 2! |
| o2 e @ Gheite, & SR bis 2a—
A P
B: 8P
C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question
D: 100145
Question
Type: MCQ
G35 1 em A SR 7, 729 SGRTS TS (S0 (1T | T Sed 996 75 dyne/cm 2,
Question: | B3 77w *fea Ifaa T (4 TR B 79%) TE—
(1@ w=3.14)
A: 85x1074]
B: 82x1074]
C: TBY10% ]
D: 53X104]
Topic: Physics-Section A
Item No: 46
Question
D: 100146
Question
Type: MCQ
Ovest TG T TNF, G G ©F P 203, T4 6360 FfATT 99 (U0F 32 km TIta TUw 23 ?
uestion:
(@, 7ffedra apid =6400 km)
A: 1%
B: 3%




C: 4%
D: 0.5%
Topic: Physics-Section A
Item No: 47
Question
D: 100147
Question
Type: MCQ
feifEs foa SwpE, 250 g ©raa i 4e @& F2ik e 3 | Pacfa 9e1 495 2 Nm— 1 13fw 9e g6 o
siferare RerdTe e «ifTe 27, w3 Feifta w=ife Temmed 2a—
Question:
250 g —/ 08000 —{ 250 g
A v
242
B: E
2
C: E
4
U
D: —_
J2
Topic: Physics-Section A
Iltem No: 48
Question
D- 100148
Question
Type: MCQ
T A1 50 kg O 07 G Tog @@ €I F0Z | TG0 350 N5 (T) e 0 #Aita | A aiwafs
| e 4 ms 2 a0 FTsE e A SIEIE 5 ms —2 SR B e Tate 2w, e fEfiie o
Question: G 7%
(¥ g=10 ms—2)
A T =700 N T2 TA@ e Tod




B: T =350 N 33 74l e 23
c: G 20T AR T GRS W TIE
D: g =2e @ T4 xR offe T3
Topic: Physics-Section A
Iltem No: 49
Question
D: 100149
Question
Type: MCQ
| oG e, S A TG 30° 1] 45° (I ST A T 25 | I I 9o @ TN F
Question:
TSR A, OF I G167 2l A 9091 SoiTe T -
A 1:42
B: A
C: 2 1
D: 1§
Topic: Physics-Section A
Iltem No: 50
Question
D: 100150
Question
Type: MCQ
GG G (oIRE-4F A1 (F915) 0.5 mm | 91 RET0 G0 FF I 1 AR e =S Z0a, 2o CZe
Ouestion. O TF 1.5 mm WF SRR (FE A 7 R | AW S0 6.8 cm 0 R, O e (A iz
ueston: ?ECET B
(&3, % cizeiiva 50 G = @ite)
A 6.8 cm?
B: 3.4 cm?2
C: 3.9 cm?
D: 2.4 cm?




Topic:

Physics-Section B

Iltem No: 51
Question
D: 100151
1Q_ue§tion Numeric Answer
ype:
= A
I, @S 2ifFe I8 SIS o 99 ALl SiferE@eR T 3l o (o3 | @R ofFe
. A
Question: - | ofsorrer T y="5x(1—x) T, O y TF T A AeoR Toliesl T il
(49 g=10 ms —2)
Topic: Physics-Section B
Item No: 52
Question
D: 100152
_Crlue§tion Numeric Answer
ype:
1 kg ©F €3R R JPILR GFT0 5IFTS AMETEIR G306 SIS ST ATATE A0 2113 | A
TFED SIFed (% I3 I SIfed ©re A FTHeE % FA0E | Bt TN ©3d GFh I,
HRETS THos RYre 6! 261 | @2 SRZIE, Q0 (T MF, TR0F Fxow FWre @i siferas]
Question:
TA 4| rad 571, IRIH x=
3R rad s~ x=
(=10 ms—?2)
Topic: Physics-Section B
Item No: 53
Question
D: 100153
Question .
Type: Numeric Answer
1 m 7% @36 I, T2 29% wAfFwel o E, O (79 3% 0.4 mm, + 0.02 mm SIS Tt
. 21, T4 ORGTS 1 kg SRR G T2 (AT 2 | & SRR OB 75 0.4 mm, + 0.01 mm 6o
Question: | ot ze7 | 338 welrE— 1 RIS T ARTT 27 2 x 1010 Nm—2| x ~& T 2@ |
(@ g=10 ms~?)
Topic: Physics-Section B
Iltem No: 54
Question 100154

ID:




Question

Numeric Answer

Type:
a3 MfE 79 «Fe @I W 26 wE, @iel aifeta = 100 Hz FI1tF 97z @A
Question: | (ireiff i 2l =/ =115 50 Hz 27| 3 (eireifS, sifefa e 550 e, O Fied % Hz
Y, @M x=_ |
Topic: Physics-Section B
Item No: 55
Question
D 100155
1Q_ue§tion Numeric Answer
ype:
G ! T Aire 47 46 ’iEamies e 1 fon @2 ¢, @3k t, FEifEe e 7w e |
Rt +mief 7t «F 6 41e7 7ire F ea Sieivt 32t Stz | 41ed +i1% F «3 e 23 \'A
Question:
er, =3, t=05mm e
try =4, =1 mm T LoV
Topic: Physics-Section B
Item No: 56
Question
D- 100156
Ques.tion Numeric Answer
Type:
fFrRIfES orem TR, @iaetE o[ e 10 IS | G2 SR 1, =40 cm FA0Y 777 &% 71edq (97 |
G4 G TG @ x, @ P @A AN @ T8I TS 20 1,=80 cm L, 9T 1T, =i g
ANGH (957 | ©IZlE x @9 T 29 Ql
Q
Question: ‘
C
FA
)
K
Topic: Physics-Section B

Item No:

57




Question ID: | 100157
?ues.tion Numeric Answer
ype:
fmifEe Ioq7 FEFA] ©fee 27 [ 99 A SIS TH F{ET &) |
8(Q 20mH 6 |I.LF 41 50mH 8
VWWN—T8805Y 11 WW FEE—— W,
Question: —— 0.5 uF — 05 pF
1| WW 1| WW, 1| YWW
I+ 05pF 1Q 08pF 40 0.8 uF 20
iy
NS
220V
Topic: Physics-Section B
Item No: 58
Question
D 100158
?ues}ion Numeric Answer
ype:
1 1
@R BT - GR — G T (TS SR A G G AN TeT (FTC7H (I T oefey <o e
T (FAR AT 1.5 R TF IF0Ea AP (R) 92 28, 9@ R @7 TH 2@ cm |
(TR = el A, v =i ok w@9)
AY 1
~(em™)
Al v
Question:
+0.08
+0.06
+0.04
+0.02
> B 1 L " 1
X —0.10 —0.08 —0.06 —0.04 —0.02 |()
2 (em™1)
W
Topic: Physics-Section B
Item No: 59
Question
D 100159




_?;pees:tion Numeric Answer

Question: g ieem elfeTies, ele fefael it st caifel et =22 A Wﬁ@\ﬂ 7 sfsel @<z wAicess cif
o7 T Fefwe @< e (X W STHmeda Sl “aN” 2, O E a= |

Topic: Physics-Section B

Iltem No: 60

Question ID: 100160

Question Type:

Numeric Answer

xifEe geqire, 7T (@@ TET steerE 3 mA |
ko 1 I
Question: Iz
(100-120) V /—Z V,=60 VS 10kQ
Topic: Chemistry-Section A
temNo: |61
Question ID: 100161
Question Type: | MCQ
sifert 197 Az eifert 11 Grie |
sifert 1 sifert 11
(G RIS
- (A) BrF; I 3=
e (B) [CrE. P~ (I 3R Prtege
(C) O (I faelt faf=aiiepis
(D) PCl, (IV) SIS
s oredl Resraf (20 Ao Teai bize 34 |
A (A) - (), (B) - (1), (C) - (III), (D) - (IV)




B (A) - (IV), (B) - (III), (C) - (1), (D) - (1)

C: (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

J (A) - (M), (B) - (IV), (C) - (1), (D) - (1)

Topic: Chemistry-Section A

Item No: 62

Question ID: | 100162

_?;pe;tion MCQ
Tifer [ 93 wif2e SifERet 11 GeTe |

Tifert 1 sifer 11
(@femal / R (SIOF)

oot | () 2502(8) +O5(g) — 2504(g) (1) Fe(s
(B) 4NH,(g) +50,(g) — 4NO(g) + 6H,0(g) (I)  Pt(s) —Rh(s)
(C) Nay(g) +3H,(g) — 2NH,(g) () V,0;
(D) Tfges e (1) + H, > ©fgew 9 (IV) Ni(s)
fits el sl (A 7o Teal bize w1

A (A) - (11D), (B) - (1), () - (1), (D) - (IV)

B (A) - (1ID), (B) - (I1), () - (), (D) - (IV)

C: (A) - (IV), (B) - (1), (C) - (D, (D) - ()

J (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Topic: Chemistry-Section A

Item No: 63

Question ID: | 100163

Question MCQ

Type:




Jfe 1 3 Cl, wors s e, e sidke aeimds faed

Question: | T3gf® 11 £ SIAITA FIE WA CEHE TF AT LR (AT FREL, (@
Ao Teis 23—

A (o1 e n1vewE o=

B: e 1 3 11 Toa2 o |

c: e 1 s foe (i 11w

D: fgfe 1 we1 foe fagfe 11 0w

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100164

Question Type: | MCQ

Question: AR AT® TR FE @14 G237 4o Gelj AR TG A
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Question: (C) 1iH
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A (A), (D) and (E)
B: (A), (B) and (D)
c: (D) and (E)
D: (B), (C) and (D)
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B: 2NO, + H,0 — HNO, + HNO,

c: MnOj; + 4H" +3e~ — MnO, +2H,0

D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
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(i) Na/liq.NHj
(i) CH3CH,OH
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H
A:
OCHj,
H
B:
OH
C: 02N4©
OCH;
H
D: OZN
Topic: Chemistry-Section A

Item No:

77




Question

D- 100177
1(?;pees:tion MCQ
e wizmnTE N sReelEE AfEfen AE T 25e—
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(A) (B) @ )
OCH; NO CN
A (A) > (B) > (C) > (D)
B (A) > (C) > (D) > (B)
c: (© > (A) > (D) > (B)
D: (©) > (D) > (B) > (A)
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